MATH 109  Exam 2  [with answers – graphs will be done in class]    November 8, 2007
Write your solutions on separate sheets of paper.  Be sure to label each problem.  

Show your work.  Correct conclusions without sufficient work will NOT receive credit.  Calculators are permitted but do not use any graphing capabilities of your calculator. 

If you have a question or want clarification during the exam, please do not hesitate to ask.  

1.          Let   y = 7-x2  


(a)  Graph the equation.  


(b)  What is the y-intercept?  (0,7)

(c)  What are the x-intercepts?  
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2.    Find the equation of the line through the points  (-3, 1)  and  (2, 4).  Graph the line.
                                             y = 3/5 x + 14/5

3.    (a) What is the equation of the vertical line that passes through the point  (-8, 2).  x = -8
       (b) What is the equation of the line with slope -5 and y-intercept 4.    y = -5x+4
       (c) What is the slope of a line parallel to  2y = 5x-1?   5/2
4.   Solve each inequality and graph each solution set on a number line.  


(a)  4x + 5 >-7      x>-3

(b)  (x-4)(x+3) ( 0     -3( x ( 4

(c)  |2x-3 | >7        x<-2   or   x>5
5.  Suppose  
[image: image3.wmf]x

x

x

f

-

+

=

5

2

)

(

                                                                                                     
            (a)   Find f (2)    
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            (b)   Find f (b+1)  
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            (c)   Find the domain of  f (x)    x(5
6.   a. Draw a graph that is not the graph of a function.  Explain how you know it is not the graph

          of a function. 
7.  (Blitzer) A woman’s height, h, is related to the length of the femur, f (the bone from the knee to the hip socket), by the formula f = 0.43h – 10.44. (Both h and f are measured in inches.)

      (a)  Suppose a woman is 5 feet 8 inches (68 inches since 1ft = 12in).  How long is her femur?     
                        18.8 inches.
      (b)  A partial skeleton is found of a woman in which the femur is 16 inches long.  A woman living nearby has been missing for over a year and slightly over 5 feet tall.  Can the partial skeleton be that of the missing woman?  Explain
                       Yes.  16 inch femur is equivalent to about 5 ft 1 and 1/2 inch woman.
8.  Use algebra to find the intersection points of the following two graphs.

          y=2x+7       y= -3x+9         

                    (2/5,39/5)
                                                              
                                       2x-1       x(2
9. Graph   g(x) =  
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10. Suppose the cost functions and revenues functions for making x bowls is C(x) =  6x + 1800 and the R(x) = 9x  [in dollars]. 
             a. What is the marginal cost of each bowls?   $6
             b. What is the break even point?  600 plates
             c.  What is the average profit per plate if 2000 plates are sold?  $2.10
*11.   What is the domain of the function    (x2 - 4x +1)-1/2  ?
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